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JIE 432 K £ ® F GR HDCP NET

& KEF EM 41 37 78 8 70
#E W B8 43 37 80 9 7
3 X YDA 39 43 82 11 1A
4 IRTFT HxE 47 44 91 16 75
5 A B 48 43 91 15 76
6 #® LH 48 43 91 15 76
1 EX EH 44 40 84 8 76
8 ¥E EX 40 40 80 3 71
9 ¥H EBEZ 45 47 92 14 78
10 By A 43 47 90 12 78
11 €K ERX 43 40 83 4 79
12 BEH B 47 47 94 15 79
13 T EF 48 46 94 13 81
14 ME F= 48 47 95 13 82
15 £H B 46 50 96 14 82
16 A =KX 50 47 97 13 84
17 = 1 44 51 95 9 86
18 THE %% 52 44 96 8 88
19 €H X 54 52 106 16 90
20 Xit & 55 50 105 1 98

B B SR

NE AL K % B’ h GR HDCP NET

B e B 42 45 87 15 72
#E (LR X5 45 44 89 16 73
3 R FH 43 50 93 19 74
4 = ¥ 46 45 91 15 76
5 e &M 45 48 93 17 76
6 FEiE  BEXE 43 50 93 17 76
7 RIE ®EZ 47 49 96 18 78
8 M RR 45 51 96 18 78
9 Mt R 50 46 96 17 79
10 EEs =& 44 47 91 12 79
11 (1T]== -3 42 46 88 9 79
12 HR HE 54 46 100 20 80
13 Bl E# 49 46 95 14 81
14 T ERL 54 55 109 26 83
15 L 55 57 112 28 84
16 Bl E— 53 50 103 18 85
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